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» Avallable (Xmas good runs):
COSMO05677-5788(2102153 ev)

#» TO BE ADDED :
last week ones from COSMO05977 to now

& USED 111 runs: n-tuple entries(Good fit(the fit is done
on straws only),good straw residues)—>70059->6803
with 4 chambers

@ TO BE DONE : exclusion of FITS using straws with TDC
bad flag (the effect is being studied by L. Benussi)



FIRST LOOK TO THE RESIDUES

# Looking to the straws fitting with the other detector layers

# The straw are taken as fixed( as they are from the very
beginning)—> we should move the other detector layers

# The mechanical support of vertex is different form the
one of straws and dch(Clepsydra)
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DCH ONLY road by road

« Looking to one chamber fitting with the other three( to disantagle the
misalignment contributions)-> The DCH mechanical structure is the
CLEPSYDRA, the fixed reference system in FINUDA
SPECTROMETER.

More populated roads:

#DC1 2- DC1 6-DC2 3-DC2_7 (20-24-29-33) 36.2%
#DC1 3-DC1 _7-DC2_4-DC2_8 (21-25-30-34) 22.0%
#DC1 1-DC1 5-DC2 2-DC2 6 (19-23-28-32) 13.2%
#DC1 3-DC1 7-DC2 3-DC2_ 7 (21-25-29-33) 11.1%
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FIRST STEP:

»Moving all together the DCH1 in z coordinate
»Moving all together the DCH2 in z coordinate
»Rotate all together the VERTEX (Phi angle) -1.4 °
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PLAN
Increase the statistics with recent cosmics
B OFF
Clean the data set ( no bad TDC flag)
Insertion of first step vertex alignment

ake care of other global translations and
rotations

Take care of single detector translations
and rotations
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